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În acest exemplu, rulăm cu 16 procese (fiecare proces, mai puțin procesul 0, nu 
are nicio valoare)
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● procesul 0 (0 < 1, 0 + 1 < 16) trimite procesului 1 (0 + 1, 1 >= 1, 1 < 2 * 1)

pas = 1



Broadcast

7 7 7 7pas = 2

● procesul 0 (0 < 2, 0 + 2 < 16) trimite procesului 2 (0 + 2, 2 >= 2, 2 < 2 * 2)
● procesul 1 (1 < 2, 1 + 2 < 16) trimite procesului 3 (1 + 2, 3 >= 2, 3 < 2 * 2)
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● procesul 0 (0 < 4, 0 + 4 < 16) trimite procesului 4 (0 + 4, 4 >= 4, 4 < 2 * 4)
● procesul 1 (1 < 4, 1 + 4 < 16) trimite procesului 5 (1 + 4, 5 >= 4, 5 < 2 * 4)
● procesul 2 (2 < 4, 2 + 4 < 16) trimite procesului 6 (2 + 4, 6 >= 4, 6 < 2 * 4)
● procesul 3 (3 < 4, 3 + 4 < 16) trimite procesului 7 (3 + 4, 7 >= 4, 7 < 2 * 4)
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● procesul 0 (0 < 8, 0 + 8 < 16) trimite procesului 8 (0 + 8, 8 >= 8, 8 < 2 * 8)
● procesul 1 (1 < 8, 1 + 8 < 16) trimite procesului 9 (1 + 8, 9 >= 8, 9 < 2 * 8)
● procesul 2 (2 < 8, 2 + 8 < 16) trimite procesului 10 (2 + 8, 10 >= 8, 10 < 2 * 8)
● procesul 3 (3 < 8, 3 + 8 < 16) trimite procesului 11 (3 + 8, 11 >= 8, 11 < 2 * 8)
● procesul 4 (4 < 8, 4 + 8 < 16) trimite procesului 12 (4 + 8, 12 >= 8, 12 < 2 * 8)
● procesul 5 (5 < 8, 5 + 8 < 16) trimite procesului 13 (5 + 8, 13 >= 8, 13 < 2 * 8)
● procesul 6 (6 < 8, 6 + 8 < 16) trimite procesului 14 (6 + 8, 14 >= 8, 14 < 2 * 8)
● procesul 7 (7 < 8, 7 + 8 < 16) trimite procesului 15 (7 + 8, 15 >= 8, 15 < 2 * 8)


